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QUESTION 1

Durini the process discovery and documentaton phase, a BPM applicaton developer is tryini to understand if a process
is unstructured or structured. Which of the followini characteristcs should the BPM applicaton developer consider?
(Choose 3) 

A. How predictable the process is. 

B. How well documented the process is. 

C. Are some actvites in the process optonal? 

D. What is the scope and complexity of the process? 

E. The value that the process represents to the core business. 

F. Are the process partcipants able to choose actvites durini executon? 

Correct Answer: BDE 

 

QUESTION 2

A BPM applicaton developer has enabled auto-trackini for a car tre producton and run the update trackini defnitons
command in process desiiner. Durini a playback, the BPM applicaton developer is asked to rename the auto-trackini
iroup from "at1392376481525" to "treProducton" and run update trackini defnitons aiain. When buildini a custom
dashboard, what resource should the BPM applicaton developer use to retrieve the data? 

A. The "treProducton" view for the "treProducton" table. 

B. The "treProducton" view for the "at1392376481525" table. 

C. The "at1392376481525" view for the "treProducton" table. 

D. The "at1392376481525" view for the "at1392376481525" table. 

Correct Answer: B 

 

QUESTION 3

A BPM Applicaton developer is creatni a coach view that allows other developers to reuse this coach view to create a
fow on the Diairam of a Human Service. How must the BPM applicaton developer confiure the coach view? 

A. Enable the "Can Fire a Boundary Event" opton in the Overview tab. 

B. Enable the "Prototype-level Event Handlers" opton in the Overview tab. 

C. Create the followini chanie event handler in the Behavior tab: this.contexthiier()) 

D. Create an IMD dependency to the com.ibm.bpm.coach.controls/utlites Module in the behavior tab. 

Correct Answer: C 
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QUESTION 4

A BPM applicaton developer is reviewini a business process built by a colleaiue. The process is an applicaton that uses
business objects based on an industry standard data model and uses several inteiratons to back end systems that also 

use that data model. 

The process has been throuih a pre-producton test cycle and is not performini well. The main area of concern is with the
BPM client side Human Service where the coaches take too loni to appear in the browser when the task is claimed. 

Which of the followini BPM factors should the BPM applicaton developer include in their review of the badly performini
Client Side Human Services? (choose 2) 

A. Executon of complex validaton services 

B. Boundary events associated with services 

C. Size of business objects bound to Coach Views 

D. Size and number of complex variables passed to each client side human service 

E. The number of intermediate events associated with each client side human service 

Correct Answer: CE 

 

QUESTION 5

A new business process applicaton is beini created with several business process defnitons (BPD). One of them is
shown in the exhibit: 

The followini requirement should be met: 

The frst user task should be assiined automatcally to the user who starts this top level BPD. A BPM applicaton
developer is creatni a new business process applicaton that is required to have no deprecated features. 

How should the BPM applicaton developer confiure the assiinment for this user task? 
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A. Select Last User in the User Distributon feld 

B. Select Last User in Lane in the Assiin to feld 

C. Select Last User in the User Distributon feld and Last User in Lane in the Assiin to feld 

D. Select Custom in the Assiin to feld and write tw.system.step.user into the Expression feld 

Correct Answer: D 
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